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Question Number : 1 Question Id : 7512365121 Question Type: MCQ Option Shufilingy: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following lists:
List-1 List-11

A)  Triticum I) Anacardiaceae
B) Lvcopersicon I) Fabaceae
C) Mangifera IIl) Poaceae
D) Glycine max IV) Liliaceae
V) Solanaceae
Bod Do wigohdo Bahod.
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Question Number : 2 Question Id : 7512365122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The six kingdom classification proposed by Carl Woese included Bacteria,
Archaebacteria, Protista, Fungi, Plantae and Animalia.

Reason (R):  Carl Woese divided six kingdoms mto 2 domains using 16s tRNA.

g (A): 5070 sdh Targe 0880 WeFhoT . ©d wé@oﬁaow,
w50y er§ociooen, (FEF, 30ogren, I8 e, BOSHLOT HIoN.
580 (R): e Tergoid 57050 16s TRNA S & @rhiod Soth @S porereor
ey o . g
The correct answer is ‘\/

A

Options:

HOGS HEFEHH0 Q/

Both (A) and (R) are true, (R) istlle correct explanation of (A).

(A) 5805 (R) e ok Q-%;sa. R) w38 (A)s %6508 d5E6.
Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 0005w (R) e Todor 368308, 570 (R) 9386 (A)% S050& d88e 5.

(A) 1s true but (R) 1s false.
(A) %85056, 50 (R) 8086 5.

(A) 1s false but (R) 1s true.
(A) 505086 595, 529 (R) H8&0$8.



Question Number : 3 Question Id : 7512365123 Question Type
Single Line Question Option : No Option Orientation : Vertical

Match the following :
List-1

A) Sutton and Boveri

B) FEW.Went

C) Hargovind Khorana

D) V.S.RamaDas
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The correct match 1s
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: MCQ Option Shuffling : Yes Display Question Number : Yes

List-11

Identification of Auxins
Axrtificial synthesis of the gene
Role of chromosome in heredity
Discovery of zymase

s HgEs

Contribution in C, photosynthesis
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Question Number : 4 Question Id : 7512365124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fusion between one large, non-motile female gamete and a smaller, motile gamete 1s
called

_éag]ér?éaeﬁnl Hen gird @ SoRriDedns’ ShY Hod JoRrideo Hodriko BodErQ)
B DLOTR.
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Question Number : 5 Question Id : 7512365125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Small specialised roots called coralloid roots are associated with N,-fixing cyanobacteria
m

Fderond 38 wdad WD, HBgEIS I8 SGad FId Jabie JchSoriddres
E5r8dd GG Joiromn.



Options:

Pinus
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Cedriis
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Ginkgo
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Question Number : 6 Question Id : 7512365126 Question Ty, Cab Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

Arrange the following m order of the; ‘?ﬁm‘ence (from top to bottom) in the regions of
the root tip Q/

L  Region of maturation ,@

II. Region of elongation
IMI. Region of meristematic activity
IV. Root cap region

SHES Dodore dhol o Foerod (D 0ol Bohs) Shdmr wddod.
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IL 2 200 @rodo
M. Def2 280 (@rodgo
IV. 3IH&sn o |@rogo

The correct sequence 1s
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Question Number : 7 Question Id : 7512365127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists: (b
List-1 Lgi S E

A) Cypsella I) ,Jaclfiuit

B) Schizocarpic D%/Sﬁ*r‘dnx

C) Caryopsis @ Rice

D) Composite fruit @V) Acacia

$od J8so aéwq}oé:%
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C) g3s5d=80 I S8
D) Jod@rsdeo IV) e3da

The correct match 1s
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Question Number : 8 Question Id : 7512365128 Question Type: MCQ pti(ok\uffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In Calotropis, the aestivatio g(ld to be valvate.
Reason (R):  Here the sepals or petals 1 hortl just touch one another at the margin
without overlapping. ?"

agmg (A): 3SR {eﬂé%ﬁocﬁa $0208 PYESS Eorosndor THkod.
5800 (R): w8 ;‘3&:0‘6306&5§&@°m Sor wE J@ w0 Yohe S &8 LETITEEL

WETGR0 FPHOT Hodrrow.

The correct answer 1s

P0G JIrerdSw

Options:

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
(A) S0805» (R) ev Bodr 85082, (R) @38 (A)S 0508 JS58e.



Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) 08030 (R) &0 Bodr 38G3082. 570 (R) 938 (A)%0 20508 I8 57¢.

2.

(A) 1s true but (R) 1s false.
. (A) 285088, 529 (R) 20088 s°&0.

(A) 1s false but (R) 1s true.

(A) %8086 0, 59 (R) $85086.
4,

Question Number : 9 Question Id : 7512365129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In flowering plants, both male and felnale@rs may be present on the
same individual, called “dioecious” or pl'e@ separate individuals, called

“monoecious’. (‘ﬁ
Reason(R): In flowering plants, the unisexualfale Tlower is staminate, i.e., bearing
stamens, while the female is pi@e, 1.e., bearing pistils.

Fspg (A): D)od Ik &7, PG 5@ R DTy o8 30§, D <oB BgdomFeDd
28 @9, Bor Toge FuRTD D688 Dsvoman 38’ ©R B otrs.
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s¥wo (R): JoBaog e’ Sp0W Sr@d §85 80089Q) DHHD{0" @i,
WO S TR) a’uﬂ@

95 Q) ‘» DAy’ ¥ Yoird.

The correct answer 1s
JOGDSE HIFEISB0

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(A) S08050 (R) oo Bodr 0503, (R) @38 (A)so D08 dd8e.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 00050 (R) &0 Todr $85308. 570 (R) 9386 (A)Bo 0508 IS8 5.
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(A) 1s true but (R) 1s false.

(A) PBSIB, 570 (R) S8G08H 5.
3.

(A) 1s false but (R) 1s true.

(A) P8I 570, 5 (R) D008,
4

Question Number : 10 Question Id : 7512365130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A typical angiosperm embryo sac, at maturity, 1s

Dogn wsyEbs bodsio HBBERES’ @oa@@)v Hoexod
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7-nucleate 8-celled @

78085 c50d 8-§egrend
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8-nucleate 7-celled Q/v
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Options:

8-nucleate 8-celled
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Question Number : 11 Question Id : 7512365131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the following plants. hydrophily 1s a common phenomenon

Bod DE)S) I ST ‘wedTd o0’ FFde GTES Jhaho

Options:

Water hyacinth
e &),

Water lily

) O& Bend
Hydrilla \9
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; @@*535@5 @

Question Number : 12 Question Id : 751236513 &1 Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori : Vertical

Identify the correct combination®of the plant with the family it belongs to

Bod &S TBST Jo0g) 5 o°I8 HGS dowodo Ko Ftwowo &8 TAD Kfowod

Options:

Gloriosa superba - Liliaceae

AOTRrar 0507y - OO0
], Gl

Lyeopersicon esculentum - Fabaceae

TEDY)50 DAY oD - FBD

2,



Phaseolus mungo - Solanaceae

DDDBreS SVoh® - FoDd

2
Aloe vera - Fabaceae
@eS? Jo° - FBD
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Question Number : 13 Question Id : 7512365133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The floral formula Br, Brl, %, rﬁ\ s K5y Crias2)s Ao)+1,Gy belongs to
& DAy Dosdo 2 J0¥ K 583308 Br, Brl, %, @{5],(3”%@},1&{9}“,(};

Options: &
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1
Pisum sativiim Q/E
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Allium cepa
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Withania somnifera
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Question Number : 14 Question Id : 7512365134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

A)
B)

©)
D)

Bo&

A)

B)

0
D)

List-1
Amyloplasts

Elaioplasts
Aleuroplasts
Leucoplasts

S8 u88rok.
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1II)
IV)
V)

List-11
Colour less plastids of varied shapes. sizes
with stored nutrients

Store proteins

Store carbohydrates (Starch)
Store o1ls and fats

Store carotene and xanthophylls
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Question Number : 15 Question Id : 7512365135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the following biomolecule :

808 &K B8 wwHSo Kfood.

i
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B,-C-0-CH @ :S)
| | Q
6H, -0 -8, v

The above biomolecule 1s
28 HEYLS) 25 w0 Q/?“
Options:
,{o

Triglyceride
ISJIENICISEY G

Glycerol

Adored
oy

Phospholipid
. @ﬂ@ﬁg oG



Cholesterol

S8aTS
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Question Number : 16 Question Id : 7512365136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct combination of statements.
L  During leptotene, chromosomes become gradually visible.
Nuclear membrane and nucleolus do not reappear in Telophase I of Meiosis L.

IL

II.  Anaphase II does not begin with simultaneous splitting of the centromere of each
chromosome in Meiosis II.

IV.

Prophase I is characterised by appearance of bivalent chromosomes as tetrads in
Meiosis L.

S

L SPLS dhod Frddoen Eoom é%;-b@a:i;é
oodrR |

DOGY Soons Ko mgmgwéo o8okod.

IL Sosgito Sodadn Sosroaen @oégcﬁ%"& &S 80N EADoWD.

M ocras & 198 F[rFc0sS 1&:0@%&35 Dfed 28 JdHoHoess® 28R TS
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IV. @808 EFardrsoen Bgronde @3305 T S0 HArdD I S BES &¥ 1

K98 0528208, Q/
The correct combination is: &
SO Swons:

Options:

Hand IV
5850 IV

Ml and IT
I 508050 1T
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TandIV
I1506a50 IV

TandII
158050 11

Question Number : 17 Question Id : 7512365137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following cell-type is not dead at maturity in angiosperms?

638 Herd o S0bdS eadso doydEeo 50
Options: QN
Sieve tube elements Q/

TOITY SoTrosTen Q//&
O

Phloem fibres @

P8 Bt Tden Q/?~
) &Q)
Vessels

o8 argren

Xylem fibres

T arden

Question Number : 18 Question Id : 7512365138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : In monocotyledons, vascular bundles do not form secondary tissues.
Reason (R): Inmonocotyledones. cambium is absent in vascular bundles.

Fspg (A): QEEY Dere®, TS Hoeren BB SwErerody JBBED.
80 (R): QBSE Derd, fad Ee0d® STPord STano0s.

The correct answer 1s

DOTDR JBrTED0

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A) Ho8csw (R) e Bodor 50508, (R) @38 &)éo HOSDES DHGeo.

i

Both (A) and (R) are true but (R) is not the cqn‘& explanation of (A).
(A) 56080 (R) 00 Bodr 566052, 570 MR) 636 (A)so $0&% DS 576,

2. O@
(A) 1s true but (R) 1s false. @
(A) 205058, 570 (R) m}% 5.

3. %
(A) 1s false but (R) 1s tl/'ll&ﬁ‘.

(A) 565056 5760, 579 (R) $85058.
4.

Question Number : 19 Question Id : 7512365139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : “Adaptation’ for coping with environmental extremes 1s defined as any
attribute of the organism (morphological. physiological, behavioural) that
enables it fo survive and reproduce in its habitat.

Reason (R):  Plant adaptations have evolved over a short evolutionary time and are due
to changes that occur in genetic material during acclimatisation.

g (A): 2D TR sIrdod” HHKER, BEgNE8 SE\E (dedrd Sowod, Y
$8) D008, [RIGS dowod) vfrro, @IHEre VOGO S IT VS
wIEroTem JAGTRoT L. |

580 (R): B derns® adogdtrgod” Srihe Su 3n¥ e vdiroaTen estOE
DB oS’ é@lsa@ Bomrow.

The correct answer 1s g
HBSS HEPGSS0 Q‘\/
Options: (L

Both (A) and (R) are true. (R) 1s the cgitect explanation of (A).
(A) 0805w (R) oo Bodr 83030, JR) 38 (A)S J8SS Jbea.

Both (A) and (R) are true but (R 15 not the correct explanation of (A).

(A) 58650 (R) e aom@:m. £ (R) 036 (A)% 5058 D580 6.
2.

(A) 1s true but (R) 1s false.

(A) %6086, 52 (R) %6056 5°¢%.

(A) 1s false but (R) 1s true.
(A) 03030 57k, 572 (R) 205088,
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Question Number : 20 Question Id : 7512365140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify a combination of ecological adaptations in xerophytes.
L  Cuticle is totally absent.

II. Hypostomatous and sunken stomata in some plants.

II. Root caps are usually absent.

IV.  Well developed root caps.

D0 Jf o o vidn wwlrogw o Svowsd) miodod.

L %5888 (ulerdd) Trom STonod
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V. orm 09508 T088 Id&dbw
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Options: @&
Tand I Q
15080500 11 @

I and ITT &%

The correct pair 1s Q\c’b

, 558050 I
Mand IV
I 58a50 IV
3.
MandIV
%850 IV
4.

Question Number : 21 Question Id : 7512365141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the pathway of water movement in the root.
L  Cortex

II. Epidernus

M. Pericycle

IV. Endodermis

S8 dhoth A KIS Jodod 8od A vl ok
Se) ©dn

e gus &80

HBSE S0

B BT

@Dé%ﬁ&é&}

The correct answer 1s Q'/&
ﬁ@@aé QAT EEN S0 @Cj

Options:

I L TV, T <<a?~

il L 1y .1

2.

I 0O I IV

T 2
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Question Number : 22 Question Id : 7512365142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Potassium ion (K") performs which of the following functions in plants?
It 1s involved 1n protein synthesis.

It helps in photolysis of water during photosynthesis.

Essential for the formation of chlorophyll.

Mamtains anion-cation balance.

= =

Required for pollen germination.

30§, & Firacho wosrS(K) 26 dhen & §od TIS* D2

L @83 503d08" &S0

I 88eusdy SoRDriBad dhod 5°088° I8 QB8 JTFAhDBdL0
I 8§65 @@ E)cﬁojcécéoei* S50 (b

V. s38rs-sboirse ddHdogs SSrnithoHs

V. Soidenden Inesdiose é

The correct combination is @O

LOTS Boows:

| ¥
Options:
Tand IV &%

[5080%0 IV

1

IO IMand IV
IT, IIT 5080520 IV

2

L IT and IIT
LI %8050 I



I, ILITVand V
IT T, IV 308050 V

Question Number : 23 Question Id : 7512365143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Glucose+ ATP Hexokinase > Glucose — 6 — Phosphate + ADP

Reason (R):  Enzyme which catalyzes this reaction belongs to enzyme class “Transferase”.

ooy (A):  KaSE+ ATP —TOE0% | fsg 6 sty + ADP

s7&eo (R): &S89 ﬁr@}&oﬁ ARB LRt WX JeBa SEH88 Docadob.

The correct answer 1s (b
JOGH DEFEH I Q\'
Options: %
Both (A) and (R) are true, (R) 1s the ct explanation of (A).
(A) 003w (R) &0 Bodr 88 (R) @38 (A)5 $650& dd58ea.
] v
Both (A) and (R) are true bt (&s not the correct explanation of (A).
(A) 56052 (R) & aowt% $2. 50 (R) 036 (A)k $65HS IS6m 5%,
2.

(A) 1s true but (R) 1s false.

(A) %85058, 50 (R) $85086 5°6.
=

(A) 1s false but (R) 1s true.
(A) PBDIE 57, 5 (R) Do,

4.

Question Number : 24 Question Id : 7512365144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following co-factor is required for splitting of water in oxygen evolving
complex associated with the PS II in green plants during photosynthesis?

HIH I ST 8¥nadgdoRriiBod dhok ‘wims ddde doflo PS II&
eddopriotnd O &')5&{55&35 GIARFHIE JT5EESD 287

Options:

Mn

1.

Fe

2.

Mg

)

O
Cd Q\’

4, &(1/

Question Number : 25 Question Id : 7512365145 Question Type': ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : C, plants show greater pr ivity of biomass than C, plants.

Reason (R):  Leavesof C, plants havYétauz anatomy” where bundle sheath cells lack
Rubisco enzyme. As@ It, C, plants lack photorespiration.

s (A): C, 30§ 0 C;&gbw 08 QS BJBHG03 wOHRESH Sraon.

sdo (R): €308 S 5708 00800700 88 o)) &doid Sereen’ HDY,
AeBa0 Swod Polron. & s¥mom C, I o’ 5708 Fd8
€O,

The correct answer 1s
DOGDE DSRS0

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A) 08050 (R) oo Bodr 8303, (R) @38 (A)S S80S Jbdee.



Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
. (A) o0csn (R) @0 Bodor $063082. 570 (R) 9386 (A)S 0508 dhdee s°ch.

(A) 1s true but (R) 1s false.

(A) 505058, 50 (R) 585058 5.
3

(A) 1s false but (R) 1s true.
(A) $0&058 5260, 52 (R) H0G058.

4.

Question Number : 26 Question Id : 7512365146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists : cb
List-1 List - IT \/
A) Decarboxylation I) Fumarate late
B) Hydration M) Oxal inic acid to o-ketoglutaric acid
C) Dehydration 1) Fo On of citrate from OAA and Acetyl CoA

D) Oxidative decarboxylation  IV) e to Cis-aconitic acid

etoglutaric acid to succinyl CoA

&

& 18od 288 uSdG08. %

2838 -1 2838 -11
Pg0BE Hod $rSE
e5S" H8IE esioo o o-8° Kreros edoo
OAA 58050 2286 CoA Sodk DB Saird
DEE0 Hod DOIEALE @00
0-8¢5°%7¢08 evo o $§0S CoA

A)  &-5oon8BAas

B) $z088d»

C) 2gdEEmS

D) w§)E80-a5on8Bas

s288°

The correct match is
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Question Number : 27 Question Id : 7512365147 Question Type: MCQ O
Single Line Question Option : No Option Orientation : Vertical

I\Y I V

?@ng : Yes Display Question Number : Yes

With respect to oxidative phosphorylation, the cariect combination of statements 1s

L

I
.
A%

Cytochrome ‘C” oxidase complex con ochromes a and a,, and two cobalt

centres.

Cytochrome ‘C’ 1s a small mobile é@on carrier protein.

Oxidation of NADH and FAD e rise to 3 molecules of ATP.

Light energy is not utiliz% /the production of proton gradient required for
phosphorylation. &

‘w§Ede &@363‘&51 Do BN Fgpge wows B?

L &S C u§as Ho8ho chodh REFE'S a, Hodoho a; Hdakn Bok g
Soen Hodrow.

I 6965 ‘C of 08) dogs T8 FES

. NADH %:0di0 FADH, © es§88mo So 3 ATP vsoeo doirddHeromn.

IV. 508 7)0BARS” FI)BTAIH ol Firs @Hind &&)E8 50d¥8R
& a3 Noo 8.

Options:

Tand I

1 [508050 1T



IT and ITT
X 508050 I

Mand IV
1558650 IV

DandIV
; M&s8cis IV

Question Number : 28 Question Id : 7512365148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ethylene 1s a simple gaseous plant growth regulator.
Identify in which of the following the ethylene is syntl in large amounts by tissues?

L Senescence (1/

II.  Ripening of fruits &
M. Actively growing apices of stems and 1‘0@
V.

Cell division promoting activity @

AOS af JE¥IS FBErdoS] %:—mg& HHEe Jchogso. Enmrers” 6
2DREHNDVE, IBOS IB)S '%J" 0&F* HoFR0TRE0E HloHod?
258 A
I Seoren B0 BoBldyd
Il srodo $00c3» I e DOR Fden
IV. %00 s (Wohod S

The correct answer 1s
HOGY BEFEHB0

Options:

TandII
I1508c5n I

1



I and ITT
. 5580350 T

MMand IV
- I 508050 IV

IVandlI
IV 5060350 1

4

Question Number : 29 Question Id : 7512365149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists : (b
List-1 Ql Wast - 11
A) Photoautotroph Xanthomonas

B) Photoheterotroph Rhodopseudomonas

%
C) Saprophyte O ) Bacillus
D) Parasite @ IV)  Chlorobiwm
&

& J8Bod =dErdyok. %

S8E -1 A 588 -1
A) s08dc0h0 Fasten ) arodAroo
B) 508 Jd8Fasren ) J&Eors&sSros
C) SresHdHen ) aroee
D) SodRden IV) &6@abo

The correct match is
KJ&@JE& 2368

Options:



4,
Question Number : 30 Question Id : 7512365150 Question Type: MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical '\/

YV

QQ’
Q
&
e



Match the following lists :
Bod &S SPESH 288008,

Tasi-1
S8 -1

e -

A)

0)

¥
K2

D) @@

The correct match 1s

QOTS =8

Options:

1
SO
&

Lambda phage

IO, &

Adenovirus

0B S3ED

HIV
N80,

Bacteriophage

wgacﬁr >E
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Question Number : 31 Question Id : 7512365151 Question Type: MCQ Opti ufiling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a Mendel’s dihybrid cross, homozygous, domi T,(Iazfud yellow seed parent was crossed
with a homozygous recessive wrinkled green ]?egparent. If the round seed shape (R) is
domuinant over wrinkle seed shape (1) and y eed colour (Y) 1s dominant over green
seed colour (v), what 1s the expected per e of obtaining F, progeny with wrinkled
yellow seeds in the F, population i theSghybrid cross? No linkage 1s there between the

two genes. Q/?“

odS 2O BLHoEOEGO @Jﬁ“éoﬁa rgd Do, HWY Sgod® e IETen
2B) 238 Joog) & SHordoh dwdden RS, vHSE) oo woddd JgT
2358 Jo&) 08" Ho88ETw0 BB, Ko ddgarw (R) Ko ofpmo Snddes 368 oo
(1) 2 2irgdo. H0x) $gos® o dgSo (Y), sBIHA dod Ko ddlo (V) D wargso
@08 Fraarerd”, Sndden H&8 D0 Sgos o F, $088 dgare do H0o8d88m0s”
Qo esirowdi)? SSrofd & Tok adgIe Sgy S

Options:

Approximately 19%

>y 19%



Approximately 56%

, T 56%

Approximately 33%

. T 33%

Approximately 75%

, TER 15%

Question Number : 32 Question Id : 7512365152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following trait was not studied by Mendel in his work?

o)
%\,
Bod DEYN) S80S odd WSS Téﬂﬁt/ & By0d?

A
Options: OQ/

Seed colour @
Des0 o
g J

Stem height &%

5P080 &)
2,

Flower colour

Qyo ot

=

Capsule shape
, W98 w580

Question Number : 33 Question Id : 7512365153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



With respect to DNA synthesis, identify the correct combination of statements.

IL
IT.
V.

Always the direction of DNA polymerisation is 5' — 3' when referring to the polarity
of strand being synthesized.

DNA ligase forms hydrogen bonds between two newly synthesized DNA strands.
DNA polymerases on their own cannot inifiate the process of replication.
DNA polymerase can catalyse polymerization in both 5' — 3'and 3' — 5' direction.

DNA %0308 0020800 S0G08 Jrgpge Swonsso Hiowkod.

L s $03hes” $ysdto K000 DR)Yd, DNA FOSDEES Jodyd 5 — 3
ST Yotnod.
I &gm Ho3ie DBodhdS DNADEe Hdges’ DNATAS & 2S womoh 2818808,
. DNA 9508w ddodd edorr DNA H8580 3060 nidd.
IV. DNA 93538&, 5'— 3' S00050 3' — 5' Bod 3P Qy£88 ﬁtébﬁl-é’o Do,
Options: ) Q\'
IL M and IV v

1

I, I &08a8%0 IV
_ &

TandII @
, 150800 II Q/v

Tand I &%

; [S08a50 I

Mand IV
" I 508c500 IV

Question Number : 34 Question Id : 7512365154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :
List-1

A) Erwin Chargaff

B) Frederick Griffith

C) Alfred Hershey

D) Colin MacLeod

Bod DS 285rG)0b ¢

gA
€h
.
TI
H

A) 82 6D
B) &8 g9
C) edS@& b

D) 5o8 drfd3r&

The correct match 1s

QOGN =&

Options:

@ @ ©O
m 1o W

1.

@ @B ©
, M 1 \Y

A

(D)
I

(D)
\Y

BE=

V)

I)
1)
1)

List-11
Transforming principle
Nuclemn

Ratio between A and T and that between Gand C
are constant, each equals one

Biochemical nature of transforming principle

DNA as the genetic material that is passed from
virus to bacteria

5638 - 11

50558 HTToEH

S8 (\9

VAIS Do s DEgieo A8, MRS
&SM&*QS Ho Jyden AZRo. B8 NG

a..gés@amo.

V) ?@g_g& DET08 ESEFES BgErEE
e @R 2dghTrgo 6D Sood e:té&o‘daﬁa&

3/?;3%‘063530
9
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Question Number : 35 Question Id : 7512365155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The structural gene in a transcription unit can be said to be monocistronic
or polycistronic.

Reason (R):  In eukaryotes, the monocistronic structural gene has interrupted coding
sequence - but the genes in eukaryotes split. The coding sequence or
expressed sequences are defined as exons. Exons are said to be those
sequence that appear in mature or processed RNA.

g (A): wf JopErd)E wly Poredn ehBplo Sod IrIVTIS S
FOVRZIET Bhwdod. g

580 (R): Q2Bo|BE 2Hs 5?3?3@;&5 QT %ﬂg@m wodoradrod Sr&d
5088 E5ros® Hotron. 5 mﬁyg 29 adogher D&SELO

(split) Hotwod. H08&H wg&w ST HgESRoy wdhEsrod

‘ISR 0 wolrd. DB E0008 & VHESrOI IER o

A0, @

The correct answer is Q/
HOFoS JBorerd S ,@

Options:

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
; (A) 00030 (R) o0 Bodr H6a08D. (R) 938 (A)B 38808 JS5de.

Both (A) and (R) are true but (R) is not the correct explanation of (A).
, (A) 508050 (R) w0 Bodr 06308, 570 (R) 038 (A)% 0508 580 5.

(A) 1s true but (R) 1s false.
. (A) D088, 570 (R) S0G0&E s°dh.



(A) 1s false but (R) 1s true.
, (A) Q038 50, 573 (R) S8ghsa.

Question Number : 36 Question Id : 7512365156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Restriction endonucleases cut the DNA molecule at specific sites.

Reason (R):  Exonucleases remove nucleotides from the ends of the DNA like that of
endonucleases.

Fgwg (A): 6@35‘5 QoE Srg8 Todewo DNA weoHhd @88 r{);a“af:; FdoHhew
20N S 0.

s800 (R): ISHdrg8coder, DNA o Srgi 8o Jod'drg§dhio I8

& OAFToW.

o)
Q‘\r
The correct answer 1s (1/

HBGS HSTTHSW Q’/&

Options:

Both (A) and (R) are true, (R) 1s C'.Jml‘ect explanation of (A).

(A) $805» (R) o0 Bodkr a@ba. (R) 38 (A) $6&08 IS8,
s,

Both (A) and (R) are ‘rmt}()@m is not the correct explanation of (A).
_ (A) $8as0 (R) 00 Bodr 586052, 5°0 (R) 038 (A)so $8g0S D6 5.

(A) 1s true but (R) 1s false.

(A) %05058, 52 (R) $05058 5.
=3

(A) 1s false but (R) 1s true.
(A) RBSE 570, 570 (R) S0&0sa.

4

Question Number : 37 Question Id : 7512365157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A cloning vector should possess which of the following characters?
L  Origin of replication (Or1).

II.  Ability to destroy the alien DNA.

II. Cloning site to link the alien DNA.

IV.  The tumor inducing plasmid Ti.

V. Selectable marker.

VL Low molecular weight.

§A0A 2808 SHAFKIE TEo H8od TS o) vfrols §Oh Gowd?

L pegs EE}UDE'JO (Or1)

I &rowah DNA & &ddo Dodrde oggo

. Sroyood DNA & SeodHbod So gﬁoﬁ @q?éo (b
IV. &ogdobio (@00 TiadGen \/
V. Q008 Bohdy 5086 &(1/

VL 8595 wmogrdo Q@

The correct combination is @

200 Swowns: Q/v
Options: &%

LILIV,Vand VI
LIL IV, V38adsn VI

1

LI Vand VI
, LI,V S8c50 VI

LIILMMand IV
; LII T 68050 IV



ILIOL IV and VI
I I TV %80350 VI

4

Question Number : 38 Question Id : 7512365158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Bt transgenic crops are more tolerant to abiotic stresses.
Reason (R): Bt toxins are coded by 'cry’ genes.

gy (A): Bt 25558588 Hoboosh 92550208308 SSkodh SLRFS Fogso
QB I Jotwod.
s°6wo (R): Btwr§iook ooy’ adhgd dosdo.

o)
The correct answer 1s
Q‘\r

HOG0S BErEHID v

A

Options:

Both (A) and (R) are true. (R) 1s th(%ﬁec‘r explanation of (A).

(A) S8 (R) 0 Todkr 5653ED. (R) 636 (A)S> 50558 D565,
1

Both (A) and (R) are true, %is not the correct explanation of (A).
’ (A) 08050 (R) oo 30&&@@)5@. 5 (R) 938 (A)% 3030 IS8 5.

(A) 1s true but (R) 1s false.

(A) %8388, 50 (R) 985086 5.
>,

(A) 1s false but (R) 1s true.
(A) 205088 5750, 5 (R) So50&a.

4

Question Number : 39 Question Id : 7512365159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :
List-1

A)  Pusa Swarmim

B) PusaShubhra

C) PusaSadabahar

D) Himgiri

Bod FPAQ 2EDSWdW.

288 -1
A) FF B
B) ¥ o
O) I Hoads
D) %88

The correct match 1s ,@

DOTS 1S

Options:

@ ® ©O
I V

1.

@ ® (©
m v I

2

@ ®B ©
\Y I I

3.

(D)

Ef

D)

v

(D)
I

& @ BB

List-11

Chilly mosaic virus
Bacterial blight
White rust

Black rot

Hill bunt



@ ® © O
\% I I I

Question Number : 40 Question Id : 7512365160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Silencing of a specific mRNA due to a complementary short RNA sequence that binds to
and prevents translation of the mRNA is called

©8g8 mMRNA & Q&) d05r68 RNA 05HESo §od odam) A8°Goikdo $o s mRNA
Silence ©HKod. &) DHord?

Options:

RNA hybnidization
RNA $0880

RNA complementation

@&
RNA 5700300835
o S'“{}ﬂ OCJodew C)

RNA interference @

" RNA 38880
,{0

RNA splicing
RNA\von
4 N
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Species is a breeding unit.

Reason (R): A species is reproductively isolated from the individuals of the other
species.
s (S): 8wl |P=SS (Dm0

s&0 (R) : 28 BY FHoR Dol LI PEgEE VS PEB)N0E.

The correct answer 1s

HOGS BETTHEN

Options:

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
. (8), (R) ew Bodir 2053082 ()& (R) 98G0& 2S58eo.

Both (S) and (R) are correct but (R) 1s not c@ﬁt explanation to (S).
, (8), (R) &0 Bodsr 388033 571 (S)%’mﬁ. 8B DSTed 5.

(S) 1s correct but (R) 1s not corr S()

_ (8) %0058 50 (R) a&cﬁsé

(S) 1s not correct but (I,{ggﬂn ect.

(S) B8G38 5% 5 (K) S0086.
4

Question Number : 42 Question Id : 7512365162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The diversity within a particular area, community or ecosystem is called

@8 Q0Q @odo, ddrao B darddes SgHPS R IDTEA) HJFom Dewdd.

Options:

Alpha diversity
Y e DGO



Beta diversity
, AL Vg0

Gamma diversity

e spelajye
=,

Delta diversity
Ber JAGg0

4,

Question Number : 43 Question Id : 7512365163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following: ,\9

Set - I Q7 Set-I
A) Acoelomate &(k Earth worm
B) Pseudocoelomate @ 1) Acormworm
C) Schizocoelomate @Cj II) Tapeworm
D) Enterocoelomate J IV) Round worm
Bo& TE aé&d&:ﬁam}@

5838 -1 538 - 11
A) @388 TS0 D o850
B) gy $688550 I 5§ &6
C) g $688 80 M) =3 P
D) wso@ #08%05r80 IV) Koo i

The correct match 1s

Options:



A B e D

I || S\ I i
A B C D
I I N I
i B = S

; m N 1

O

Question Number : 44 Question Id : 7512365164 Question Type: MCQ Option Mng : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Q

Match the following: ‘\/

A) Astrocytes I ement of cerebrospinal fluid
B) Ependymal cells Ayelin sheath around axons of CNS
C) Oligodendrocytes $ Myelin sheath around axons of PNS
D) Shwann cells Q/ IV) Formation of blood - brain barrier

808 T 2BBSH S0, &%

588 -1 588 -0
A) sRplow D S 3 85D 5508
B) J2o&%S Eoren I Sogad SEILS” Fo@s o Wby
BooHda xS
C) wdFBoE pinen o) »H66c%H a6 5§39S° So@sgro Wiy
Sooh O Y
D) S Segrew IV) &¥o-3odd 0if'erd) ddydarewn

The correct match 1s

DOGS e



Options:

A B =

c

1 vV I I I
A B ¢ D
2I[ I T Y
A B % D
; \Y I I il
A B B D
vV 1T I I

4, (b

Question Number : 45 Question Id : 7512365165 Question Type: MCQ Ojiticn Snuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical %

Identify the correct statements with refer
A First metazoans to exhibit tis i e Jevel organisation.

1ce to Crudana.

loblasts.
Reproduce only by sex %f)mductmn

Contam stinging cells calle

o N w

Development 1s ]l’ld]]@ and mcludes planula larva.

A

QBOARB Dowofod JHOFS Trgpgosn Hokodk.

A 2D Swwro Jon J07E) 60)0T I8 aTose LY.
B. a2 &garlen DE S0ty Seorodo §OA wolrow.

C. 20 Boh§ R&gé8 oo @ KRB adeon.
D. o oogd 808 968 @@&’)&%.

Options:

A&C

1.



A&B

A&D

&

B&D

4.

Question Number : 46 Question Id : 7512365166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set -1 Set - II
A) Tornaria I) Neometra
B) Brachiolaria 1) OBalanoglossus
C) Pentacrinoid @\'Hofoﬂnn*m
D) Auriculania & ') Pentaceros
8ol T8 23SRETW 0. @Cj

238 -1 238 - 11

s - v
A)  &5)00% Q/

S D

B) réskrsocs & IT)

C) “@0@@5‘*0&35 M) ST goroatr
D) 050380605 V)

The correct match 1s

B B
Options:
A B C D
I I III I\Y

1.



B
I I I \Y

QU 4 Ui, T o 1 MCQ Opln i e ity Queion b 12
Study the following characters: Cb
a.  Aquatic (marine and fresh water) fDl‘l?ié\/
Body scaleless &

b.
c. Cartilaginous endoskeleton @
d.  Renal portal system absent @C)

80& wfredo ﬁa%éoﬁaé.@v

A 2o (S50, M@(?és) £Heo
b. Q&b deddn dirdo

C. K)JJCSJEJ'“?E% oS0 s @Uéﬁ“%?ﬁomiﬁu
d SHodd 5% Ao 585%

The above characters are found in

D ofren IBS’ Golrow

Options:



Chondrichthyes

STt

Hemichordata

'“J'“é&.}?@éa

Cyclostomata

fo

Cephalochordata
PSP

4. \9

Question Number : 48 Question Id : 7512365168 Question Type: MCQ Ofti guffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical &



Match the following:
Set-1

A) Cheloma

B) Rhynchocephalia

C) Crocodilia

D) Squamata

1808 T8 28580 0.

588 -1
A) DS

B) G&ofardoh
C) F5adodH
D) & odr

The correct match 1s

D0TS =&
Options: &?
A B e
¥ I I
A B [
5 M I I
A B S
, I IV
A B €
I I\Y% I

H ©

Set-11
Sphenodon
Hemidactvius
lestudo

Gavialis

S838°



Question Number : 49 Question Id : 7512365169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The communication tubules of flagella which connect the basal granule to plasma membrane
and nucleus which can pull and alter the orientation of flagellum are

S0 eBEN0 T Ec0, SoE0S” O, ETer) O, BT Q) Srd)idn FRTS
5088 Koy TS,

Options:

Dynein arms

A WTvPen
1

Triplets

2 %
Doublets Q’}
O

oiE JrElT s

Rootlets Q/v
i SOTPET R &%

Question Number : 50 Question Id : 7512365170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
List-1 List-11

A) Bmary fission I)  Unfavourable condition
B) Multiple fission I) Nuclear reorganisation
C) Sexual reproduction ) Favourable condition
D) Conjugation IV) Genetic recombination
808 TR 238080 0.
238 -1 588 -1

A &o G D) @8sro H8ydes
B) i a8 II) @zgﬁ QSGgg 580
C) Bod RH&gd \n/wsfo&re: DO O
D) Soodanryden @/&r‘% 23808 VDo redo
The correct match 1s @O
HORD 228 Q/v
Options:

A B C &
! 1T IV I

A B = D

IV II i1 I

=
2 w
H O
—~ O



Question Number : 51 Question Id : 7512365171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:
List-1 List-1I
A) Parasitic Castration I) Abnormal increase in the size of the host cells
B) Neoplasia I) Increase in the number of cells of the host
C) Hyperplasia I) Degeneration of gonads of the host
V)
V)

Abnormal division of the cells in the host tissues
leading to cancer

D) Hypertrophy

Abnormal increase in the size of the host

808 T 285K H 5.
2838 -1 S8 -1
e&EZow Eoore é&i@oé" T U whihde
S&Fon Sore @3 &S ndHide
es&Fon DS’ 5RoDTHL

&9@550)@3@0&5{ Seore) rrdo il 3o

m&ba%mm
H03700S” W de wiiide

<</

A) DTHES TRAS
B) drTrdos

C) 86D

D) o6t

S 88°

The correct match is

QOGS wd &

Options:

A B &
V 1T I

= O

1.

\Y I T V



Question Number : 52 Question Id : 7512365172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The process of ‘exflagellation’ occurs in which one of the following stages of the life
cycle of plasmodium?

Cres S50 ©F PHBcH TAWBoHO EIE BEoS' I BIS® HoeDK0B?
Options:

Sporogony
| D% Ds'Eg
Erythrocytic schizogony

5880 PO 2RO Q//&
O

Hepatic schizogony

Q/?‘
5000 Ao 28S0 %
3 &

Gametogony

D2 85°S\8

4

Question Number : 53 Question Id : 7512365173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The tranquilizer which 1s normally used as a medicine to treat mental illnesses and often
abused 1s

& 8086 78S’ SR 5758 NV8GS' TR OAIRTHNGLNT WT 0S8

Options:



Barbiturate
20 E00E
13

Amphetamine

@Dibéa@ﬁ
o)

Lysergic acid diethylamide
: BI85 W& FHPOSWIE

Benzodiazepine

Dot oo e
4, &

O

Question Number : 54 Question Id : 7512365174 Question Type: MCQ Opti ffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Periplaneta americana, there are three pairs of jaimted walking legs. one pair attached
to each thoracic segment on the ventral sid h leg 1s made up of five segments or
podomeres arranged serially. Identify the sequeilice of arrangement of podomeres from the

base to the tip.

DOFIET @DOFTT S Doy =8 %ﬁm ) w85, 28 D8 IE poddy &lidwod’
088 Golrown. wh)¥) T Bed FE PosSrw wolron. TGS srrdo Lol

©@othHHEE G0l VOGHS Poderw wHdE WD Eiry hiotiod.

Options:
Tibia = tarsus — trochanter = coxa — femur

GO = Lrdie = (EsTolb = 55 = 2b
1.
Coxa = trochanter — femur — tibia — tarsus

§°57) = E5°5°088 = @b - BAASr = LD

z.



Femur — tibia = coxa = trochanter — tarsus

2308 = BHoSr = 5757 2 E5Pod = LD

Tarsus — tibia = femur — trochanter = coxa

LR = BASST = P08 2 E5°50Lb 2 57

Question Number : 55 Question Id : 7512365175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The principal muscles of respiration in cockroach are

251’%30555 ;’ngp;}g@_:é TR Bodoren:

O)
Options: N
>

Ventral longitudinal muscles

1

&30 e8oid Sodoren é
| @)

Dorsoventral muscles @
PSS Sodoren J
Alary muscles &

Q5’58 Sodkoren

Abductor muscles

WHSIE Sodoren

Question Number : 56 Question Id : 7512365176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : The mmage formed in nocturnal insects is called superposition 1mage.

Reason (R):  The superposition image is a clear image.
Fsog (S) T80 SLFes” JOR E8Aowo S FRLS Hédowo.
s~¥e00 (R) : 20 28 AP PH8Dowo.

The correct answer 1s

POGH DETEHB0

Options:
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S), (R) e Bodr 38305. (S)% (R) £08808 I8¢,

1 \(/b

Both (S) and (R) are correct but (R) 1s 110(}91‘&& explanation to (S).
(S), (R) & Bodr 5663053 5 (S)@R) 50GeS D56 5.

: O
(S) 1s correct but (R) 1s not {:ﬂﬂ%&

. (S) ¥85058 2 (R) @&cﬁa@?s:cfo

(S) 1s not correct but (ésls correct.
(S) $o0%6 5% 0 (R) HOFKH.

Question Number : 57 Question Id : 7512365177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : The water flea Dap/inia exhibits characteristic head shapes during various
$easons.

Reason (R):  Cyclomorphosis is a seasonal adaptation to changing densities of water in
the fresh water lakes.

Fgog (S): T8 @ ‘@FPad I Teres® VG do wibeos @HE8RYos.
580 (R) e Erd B IEH)ST HHSre S 87 B Fodsess
wEroddon.

The correct answer 1s

2GS BTG H0

Options:

Both (S) and (R) are correct and (R) 1s correct @lauatiou to (S).
(S). (R) en Bodr H853050. (S)s (R) ﬁa@ S8eo.

1

Both (S) and (R) are correct but (R) @ correct explanation to (S).
(S), (R) &0 Bodr H6GST 579 (R) $88308 Jd58e0 560,

2

(S) 1s correct but (R) 1s mc&éct.

(S) 585088 5 (R) 56 .
3

(S) 1s incorrect but (R) 1s correct.

(S) 505058 5% 52 (R) HOG0SH.

4

Question Number : 58 Question Id : 7512365178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements with reference to special adaptation to aquatic habitat.

A Fresh water fishes have large glomerular kidneys and salt absorbing chloride cells in
gills.

B.  Marme fishes have large glomerular kidneys and salt excreting chloride cells in gills.

C.  Marie fishes have aglomerular kidneys and salt secreting chloride cells in gills.

D. Fresh water fishes have aglomerular kidneys and salt secreting chloride cells i gills.

RO BID @’aég§ wRErOTOR 0206008 Tgped” B TEI KHododk.

A 50008 Tdew DY GE8ETES ) Sr@domen, JnDeS” olrody [(irod
§0G& Seorodo 8O erolrron.

B. 230 Bden DF I8EITIs ) Sor@hosren, Inded' ol IVYE §B6
Eeoroido 8OA Godrrow.

C. 250 Tden 8883088 D idrd Sorm@dom e, 3%&:&5" odeoren EI0B §06
georod OO0 Godrron. Q\/

D. 50008 Jden $§8io¥s WHdrd S "S:J(OL{E:\J, SwNes® wdro PI0T

535 Serodo $Oh Golrow. @

Options:

A&B @

&
A&C
5 ,@

B&D

>

C&D

4.

Question Number : 59 Question Id : 7512365179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct combinations.

A Ozone Layer — uv —  Blurred Vision

B. Green House effect — Methane —  El-nino effect

C. Acidrain - SO, —  Photochemical smog

D. Eutrophication — Algal blooms —  Ageing of lake

JB8 FoE¥JoPhoh Hfowkos.

A e85 &8 - uv —  50%% w05 Sy

B. 5088 > @erdo - DB R - AE-AT PHerdo

C. &3 3o - 802 — 508 Srodd ot
D. cSrEstnsae - oo DEHde - D88 TgEgo

Options:

O
: A&B (\/Q\/
' &

| C&D C)

B&D
¥
A&D &%

4.

Question Number : 60 Question Id : 7512365180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following organs acts as haemopoietic organ i the foetus and erythroclastic
organ in the adult?

& B0 adtads widhTrod® & Doddds® 88 §Hte\dE vidhdom, PdddS”
JY G880 DY) edohlormr HIVXo?

Options:
Bone marrow

QD8 dorends

1



Liver

S o0

2
Kidney
538

o SgLY

Pancreas

i:ﬁau
4

Question Number : 61 Question Id : 7512365181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sigmoid curve is obtained when percentage saturation @uoglobm (Hb) with oxygen
is plotted agamst the PO _ as indicated below : Q

vV

8z, TIrids (Hb) 8 @od dody) ved /%2&3 Sg808ormr S Tp ADSDYL .8
DTIEns T & Bod Wrad ddom Ao

S

23 9

f%E: E & If a patient who i1s a hypothemm.: with a body
R v temperature of 30°C, the curve shifts towards
< 3 08 B vo) SAAEES o8 BT ¥65 SIS
= & 30°C wondHyte & SE dp & IS dHo
= T Bododod

D g

=8

&'

T A

2R —> PO, (mm Hg)

O- il

Options:

Curve shifts to the right side due to less affinity of Hb with oxygen.
TIPTOS 88uls’ vdwodo dihdo S IE Tp HaEIHH ITHo Bokeod.



Curve shufts to the left side due to lugher affimity of O, with hemoglobin.
s§us TIPTASS” vHwodo WEKEe So JE Op ENIYHE dTHo BokE0b.

2.

Curve will not shift either to left or right.

SE T AENI DB Slimy BEIP M QTR0 Bolkd.

3

Curve becomes straight line instead of sigmoidal.

S O R0 6 O SHoE J8FOP™ SrBe00d.

4.

Question Number : 62 Question Id : 7512365182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following: N
Set-1 Set-1I Q

A) Valve of thebasius I)  Gaurds left atriovédtricular aperture

B) Eustacheanvalve ) Gaurdsthe &u

C) Trcuspid valve I) Nonfi

D) Bicuspid V)

808 TBD wEHIHWEN. Q/E

g of coronary sinus mfto right atrium
1 in adults

t atrioventricular aperture

588 -1 %oac'5§ I
28 -1
A) FBbAHD Lt 'ﬂ) &S0 §05 28OS FoErd) 8806
B) ma;aoa:rs sardoo E6°50 §'Ldo Bk §E‘}§e§{ BT SolEr) 88208
C) 1838 sadoo ) &g LIhos® Basrdrdom wotood
D) &9 sado IV) 5& 885 2805 Sogrl) 888308

The correct match is
DOGDE
Options:

A B £

I I 1\Y I

1.



Question Number : 63 Question Id : 7512365183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following features best suits to a healthyy/ normal individuals urine:

V

es8°Kg 50SR/ 8Tl Sg8 w@o@f@/ G & (Bod efedoen:

Options: C)

Dark yellow colour; pH : 6.0; SG% H,0, 10% urea
S08a8 HBoY oik; pH:@ 90% 5. 10% chroais
1. %
Pale yellow colour; pé?.ﬁ; 96% H,O, 2% urea, 2% other substances
S H0D Soro: pH : 7.0; 96% &, 2% cSardass, 2% Qés SlogloS¥
&
No colour; pH:6.0; 98% H,O, 2% urea, 1% glucose
) Sgserdo; pH:6.0; 98% &, 2% cr8adr, 1% Kr8'E

Pale yellow colour; pH : 6.0; 96% H,O. 2% urea, 2% other substances
B D20y Gora; PH: 6.0; 96% DS, 2% 65008, 2% QS8 HETen

4.

Question Number : 64 Question Id : 7512365184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Identify the correct statement with reference to vomer bone:

D08 BF IB0EB Jo0HoAS HOHS Tgwge Klowod

Options:
It forms the bridge of the nose.

28 S8 ST TEHI ABY0B.

It forms the upper jaw.

Q8 D BSES DSKR0s.

It 1s a triangular bone present on the floor of m& cavity.
28 TUEEITE0 @i/ Gdddwos” ﬁ:ﬁ&@eﬁzwmiﬁ D08,
3 &
It forms the anterior part of the pa @
QW T FoPod ) JOFRR06.
Question Number : 65 Question Id : 7512365 estion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option O)Q on : Vertical



Match the following:
Set-1 Set-11

A) Alzheimer’s Disease I) Inflammation of the protective membranes
covering the brain and the spinal cord.

B) Meningitis I) Progressive disorder of the central nervous
system affecting motor movements.

C) Parkinson’s Disease IIl) Rapid loss of brain functions due to
disturbance 1 the blood supply to the
brain.

D) Stroke or Cerebro-vascular IV) Progressive neurologic disease of the brain

accident leading to the loss of neurons and the loss
of intellectual abilities.

Bod T 28380thiao.

588 -1 se¢ -1, O)
A) @96 Tg6 ) s }ﬁa‘m B0 >0 TH
B) 3000B8S IT) Eo&m $g50 @HYS Edoom HEHJ:
@ §5080d Pardo Babdo

C) o3 g8 Sy 8o DEHTS" esbo¥o

QEBSIE Joddo Aghen Ko

Q/v §ed0 5o

D) @&F§ 8o "?of}@i'ﬁs‘*‘éﬁag@% IV) J0&coso BodS & dowol Tgd Edoom
S8 Rod D& Hosdo I T8 Eegren, DS
Fdoggo Sedowicdo

The correct match is
ROGS s

Options:

=
=
2 °

=
—
=
= =



A B B D
BN 11| I I

A B C D

I v I ]
4,

Question Number : 66 Question Id : 7512365186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the hormones that regulate calcium levels in the human body?
A Calcitonin

B. Thyroxine g
C. Cortisol Q‘\/
D.  Parathyroid hormone (1/

SrSHQ BiTroS” Y000 o éé@oﬁ 36wl BoH0E.
A LS

B. 3o§)o Q/?~

C. s=g>rd ,@

D. &ogoont $¢)e

Options:

A&B

1.

A&D

B

B&C

£

C&D

4.



Question Number : 67 Question Id : 7512365187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following:
Set -1

Set-11

A) Addison’s disease I) Deficiency of vasopressin

B) Cushing’s syndrome IM) hyposecretion of glucocorticoid

C) Myxedema II) Over production of glucocorticoids

D) Diabetes msipidus IV) low levels of thyroid hormones in adulthood

Bodh TPIQ 2S00,

He3g -1 I
@b -1

£A
155
&,
i

A) w&dS g8

B) &%oh do@Eso

C) §ddor

D) &oH8BER 20008

TR0 STHo
K85 gsronte WS 88
™ g —D
(138 5705 00 & %‘éﬂ)@

-}

T S3S5°Q @95 T0)0 vy Fowe

The correct match is Q//&

BOGS 228
Options: $
D
. I I \% éQ/
A
D
I
D
I
D
I\Y%

S8 8°

B
II I 1T

Question Number : 68 Question Id : 7512365188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements about T, cells.

They are CD 8" cells.

They recognize antigens through MHC class-II protein.

They recogmize antigen-presenting cells and produce antibodies.

oW

They recognize altered-self cells through MHC class-I protein.

TC Beoro B H0205008 S0 Trgpgosn HFothdn.

A 2d CD 8§ geren.

B. 2 8-l MHC @88 oo @éassrols fHhodon.

C. 2d P8z=38 ddw oo HOron: PRI wéd Baron.

D. 22 ey 3088 bok Swos $5-1 ng/@@iﬁéﬁﬁ o KRR,
Q

Options:
A&C &q/

1_ &
A&B @

. s

A&D &(g

=

B&C

4.

Question Number : 69 Question Id : 7512365189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct sequence of passage of spermatozoa in males.
Rete testis

Epididymis

Urethra

Vas deferens

Seminiferous tubules

Vas efferentia

@ 0 A0 g

Ejaculatory duct
h.  Urethral meatus

a. 68 swofo Q@
b.  I2EBMD v

c. Bago é

d HE > @g

e. DEFNEE TP

v
£ HE 88w %Q/
A

g {od T¥o
h  cSo3gsS b

Options:

a—-b—odose—sc—>f—-g—h

esa—sf—-b—->d—og—c—h
z.

e-c—sa—>d—o>b—osg—>f—h
3.

d-b—osa—-sc—o>foe—-sg—h
4,



Question Number : 70 Question Id : 7512365190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the diagnostic procedure used to detect genetic defects in the embryo:

206EES” adog vdESrod HHoRoE GIRrNoT KomMRE DI HiowNosk.

Options:

EILISA

1

Amniocentesis
@&J&rﬂmoéﬂﬁs )

z.

Amenorthea

O)
TR Tevs ‘\/QN

G

A
Sonography Q/
O

S|P
4.
Question Number : 71 Question Id : 751236519%5&1 Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Ori ian : Vertical

A



Match the following:
Set -1 Set-11

A) Plerotropy I)  More than two alleles occur at the same locus
on homologous chromosomes

B) Multiple alleles I) Expression of both the alleles m hetero-zygous
condition

C) Polygenic inheritance II) Multiple effect of single gene

D) Co-dominance IV) Single phenotypic character influenced by
more than two genes

Bod TAQ 285 GTobw.

53¢ -1 5% -11

A) DI D) Jdwrd FIrS’Heos™ o Fdo 5¢
B0l Q8 S cninsoryen oo

B) a2@v¢ cdoijdseryen ) Ddoh osoryes %Boc@a oS0y DE ey
3578 & Q%@gaoféc@o

C) advedy vddodds M) a8 2259 Brderody Brddo

D) J&rairdddo V) 2% H fpdnd ok SoB 89S

& e Perddo Bobdo
The correct match 1s Q/Q

&8@3.‘6 2288

Options:

=
H 0

= o mw}@



Question Number : 72 Question Id : 7512365192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following;

List-1/588 -1 List- 1T/ 5¢38 -11

Sex Index / &0 d20¥ Sex of Drosophila /| &&Foer doiidsrbo
A) 1.0 I) Intersex

éfﬂ@uﬁ@
B) 05 1) Met@k
/{tb%&ﬁ &

C) 0.67 welmle
@ Lﬁfa =
D) 0.33 Q/?* IV) Male

HEH £D
,{0

V) Meta female
g@@ £

The correct match 1s

DOGS e
Options:
A B C D
I Vv I I



1T J\Y I I
3

A B C D

V v I I
4,

Question Number : 73 Question Id : 7512365193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with reference to sickle cell anemia:

A Due to point mutation ‘glutamic acid’ 1s replaced by ‘Valine’.

Due to point mutation “Valine’ 1s replaced by ‘glutamic acid’.

It 1s autosomal recessive genetic disorder and affects heterozygous individuals.

onNnww

It 1s autosomal recessive genetic disorder and affect& ozygous individuals.

Q

36 S @I K Dowofods OGS dgpgedl HYothdn.

a_

o3

El'._:_:)

A Do SEPILS pOFor ‘TOS mwa@;@@ BEEDB08.
B. Dot ¢&0I8S 200 Hrirdo§ @b’ TO% ©HEENN0B.
¢

Q8 FRrsSto oo Dogdod vné 2dog ©HRHE: DAD cBiyz Sgieo B

wHeh. Q/

D. Q&8 §3rs’ o%or j{@z‘ﬂ wodgd adog wiHPE; JdocdniE Sgioen b
@S .

Options:

A&D
B&C

A&C

3.

B&D

4,

Question Number : 74 Question Id : 7512365194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In the geological time scale, the golden age of fishes 1s

Fog ToSTS HEES* Bdo BrgokorSor B!

Options:
Tertiary period of coenozoic era

0TS 00f SoFtcsnKos’d Bctgf} cdiio

1.

Jurassic period of mesozoic era

DS 006 SoStcinKoe’d o oo

z.

Devonian period of palaeozoic era :\9
2OBrE’ons SoFtciniios ') &SV @ﬁo

3 &
Carboniferous period of palaenznié/
, POBrEonE HFFanhios ﬁ&ﬁgcﬁ a0 o

Question Number : 75 Question Id : 75123651 estion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tign : Vertical

Experimental verification of natural selection was performed by

©E)8 $6erQ) PR E ST SRE00RSTEH

Options:
Augustus Weismann

WSS DELrS

1.

Paul Kammarer

TS 5086



Hugo de Viies
2 Toeht & 9%

Bernard Kettlewell
, 36§ 88SEIE

Question Number : 76 Question Id : 7512365196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct sequence of stages in the evolution of man.

A, Homo neanderthalensis

B. Homo eructus

C.  Australopithecus

D. Homo sapiens l\c,b
E. Dwrvopithecus (19

A

S5 HOHER SO B @gm@ 8050,

A FFIrIaroEE TEYR
B. &%r J855 &
C. eFoDass ,@
D. FRrR5a0g

E (S08rd985

Options:

A—-C—=B—-=E—-=D

1.

ECAA%B%E%D
SE%C%B%A%D

4E4A%C%B%D



Question Number : 77 Question Id : 7512365197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“Hisardale” 1s a new breed of sheep developed in Punjab by using the following breeding
technique:

TSRS o3 Y HaSS AP Howrands® & (Bod PRI Fos8ESS SHRrAoD
0SB BT,
Options:

Interspecific hybridisation
@WOBY 278 NoEUNN

Cross - breeding

58 HasSin Q,\?)
Out breeding Q/
5 2Tg DO D0 é

O

Multiple Ovulation and Enlbly:)@lsfer (MOET)
2T0E WOl Dotk wdd Q/

9

Question Number : 78 Question Id : 7512365195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set-1 Set- 11

A) Prolonged P-R interval I) Hypothyroidism

B) Shortened P-R interval I) Hypokalemia

C) Prolonged Q-T interval II) Delayed impulse from pacemaker
D) FlatT-wave IV) Tachycardia

BoB T8I 8BS 50.
538 -1 %esg -11

A) 0nd P-Rwoddo D TIFFowodaan

B) &86a% P-Rwoddo ) Zr¥Fsddossr

C) 06ad Q-Twoddo Il) edirdodigo ol DI GT e Bodgnddo
D) ®¢o38 T-g¥80rdn IV) érésQoio

Q”
The correct match is &(1/
$OGS W Q/

Options:
A B C D @
il I\ I I

1. &5
X B C &%

NV m I I
A B C D
I\ il I il

=,

Question Number : 79 Question Id : 7512365199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The first gene therapy was given for the deficiency of:

& 180D S'r8 JnSBFOT 2logdEe) Tobadod.
Options:

Adenosine deaminase

W&SHS AIE

1.

Insulin
2:0)00

o-1 Antitripsin ,\9
o-1 esoddigddy (19

O- SN el
%) ¥

o- Lactalbumin é
e
v

Question Number : 80 Question Id : 75123652 estion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Ori 10N : Vertical

Natural killer cells originate from

Dre oy Seren 28 $o0d eIV o0.

Options:

Adipocyte stem cells
WETF VL rosared

1

Myeloid stem cells

FUT0NE orosearen
o



Lymphoid stem cells

DoaronG Soredcared

3

Endothelial stem cells

) QoG RONS Soroscoren

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512365201 Question Type: MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify mncorrect statement among the fol ng.

A

& (808 FES® HOFKH A & §J réé&m

Options: @

There are four fundamental foives in nature.

8IS T | ans ) IO,
1.L & : @n A

Conservation laws have a deep connection with symmetries of nature.

NodE Aohdren PE)S D) TLTeE S8 JoaoF W) 5O tsIow.
5

All conserved quantities are scalars.

. ©Q) od8s THen VHIB.

Some conservation laws are true for one fundamental force but not for the others.

§'Q) Q85 Qododren w8 (@S purds chTgw 579 858 o788 579,

4,

Question Number : 82 Question Id : 7512365202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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: o c , e ;
The expression for the force is given by b+—, where ‘5" and ‘¢’ are some physical
I

quantities and ‘7" 1s the time. Then the dimensions of ‘¢’ are

D8 BEFOED b+ M 2B@EIE. R0HS® B Hock ‘¢ ¥ID I FT8E ohen
I

28050 ‘f o0, wond ‘¢’ § deen

Options:

M°LT

MLT

MLT™

MLT

Question Number : 83 Question Id : 7512365203 Question@MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : iC

An object falls a distance D from res
The time taken by the object to I

A

Qom0 oD 28 Y D drdo J&FB0H. ¢ SR V30 2 DEIS” 0.51 D drdo
PS80 0d. wond D drdo Howirds S0 S8R 5o

object travels a distance 0.51 D in last 2 seconds.
he distance D is

Options:

20
—5



Question Number : 84 Question Id : 7512365204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A and B are the ends of a ladder in contact with a vertical wall and the floor respectively
as shown in the figure. Let u, and v, be the velocities of B and A in x and y direction
respectively. At a time when the angle ABO 1s 60°, u, = 1 mv/s, then v, m m/s 1s

HLoS® HFrbdtnm, JePHF'E, Jo8® HHS' &l IFS ?@) SGdm™ A Hoddsn B en.
Up 00050 V, 00, SHJM x Hocw y HFes® B H0d e I wofod. ABO,

60° 20 oS o0 3G, Uy = 1 m/s ®ond V9 QS oes®

&

SR
v

,{0

Options:

-

1
B



-

y

Question Number : 85 Question Id : 7512365205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The resultant of the two vectors A and B makes an angle o with A and p with B.

wall

Statement (A):  a<Pif |Al<

— —

Statement (B) : oo <pif |A|>|B

Statement (C): o=p1f .;& B Q\c’b

AV

Bod $B¥en A H00ckn B o 598 567, A®m 057, B & Swo B i Bd0b:

2580 (A) : o < B wowd ‘A‘ \@
D58 (B) : o <P wond @T

Q%6 (O): o= @K&‘ — ‘f}‘

Choose the correct option
SOGHS 2T JowoFod:

Options:

(A) and (C) are true
(A) 508080 (C) e dg0.

Only (C) 1s true
(C) Srg d8g0.
2



(B) and (C) are true
(B) 08080 (C) en d&g0.

=

(A), (B). (C) are all true
(A), (B), (C) vy 2853,

4

Question Number : 86 Question Id : 7512365206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ball is thrown at some angle with the horizontal and at speed 10 mv/s. The speed of the
ball at 1ts maximum height H during the motion 1s 5 m/s. The magnitude of H 1s

(Assume g = 10 m/s%)

882 Bdrodlod’ Fod Feo Vdx, & 10 m/s 3¢ o8 @ V0T, & 008 FodoS®
&SRy o0 0% ) HIG 208 5& 5 m/s. wow Sore00
(2= 10 m/s?d ssosdsn) A

Options: O@
3.75m @

2.

6.59m
=,

25 m
4

Question Number : 87 Question Id : 7512365207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A man weighs 70 kg. He stands on a weighing machine in a lift, which 1s moving
downwards with a uniform acceleration of 5 ms™. The reading in the weighing machine
is (Assume g = 10 m/s?)

2§ 5002 70 kg © 26 Srhed. odtk, 68 &omo Sms™ & offSupomr SOKS)
DYPS® &) Y SrB choEo RS Jwwde . wond e doogo S a §&or,

(g=10 n/s* 9 wHFH50)

Options:

70 kg wt.
70 kg 20809

35 kg wit.

, 35 kg sy ‘\/Q'S)

86.0 kg wit.

A
86.0 kg 22805 QQQ/

106 kg wt. Q/?~
106 kg 20805 &%

Question Number : 88 Question Id : 7512365208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At a certain instant, an object is subjected to a force F= [(40)1 —(2.0)}+(9.0)FZ‘]N

while the object’s velocity is v = [—[ 2.0)i + (4.0) fr] nv's . The instantaneous rate at which

the force does work on the object is
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A 4.0 kg bundle starts up a 30° mcline with 120 J of jﬂ@c energy. The distance upto
which the bundle will slide up the incline. if the coeﬁi@l of kinetic friction between the

V

bundle and the incline is i is &
N &
w8 30° Trendeos 8248 12016 oS0 kg o Sordy $dodo @rdodod. SorLdr,

g ,
Te0 SerdE a’iocﬁg N2 ‘Sf..)aiélea r’beagﬁ — @oud Teod00R 0ordd "E:u_g s Srdo
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Options: &
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10 m
3m
8 m
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A uniform circular disk of radius R is used as a simple pendulum when suspended from a
point. The time period is T, if the disk is suspended from a point on its rim. However the
time period is T, if the disk is suspended from a pivot pomt at r = «R from the center,
where 0 <o < 1. If T, =T, then the value of « is

Fsrgo R do o8 2868 Syesd ), w8 ooy H0d JordddISyd, T
eja’:mef:)‘t:ﬁor?’ TETD. T WodRS wE Do Do AHD 5&?(‘56?:.6&3(:53 EPsTet
s00 T, Boo %000 r=0R 3 Ke a8 0¥ HoddY S0 HYHD JerdbSHE, eS5ES
oo T, 2§ 0<a<1l T, =T,, vonddyd o Je0s,
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A wheel 1s rotating freely at an angular speed on a shaft. A second wheel with twice the
moment of mertia of the first and initially at rest, 1s suddenly coupled to the first shaft. If
K 1s the original rotational kinetic energy and AK is the loss in rotational kinetic energy,

then & 15
K

28 QBIPY, & Fedoh 4 w8 HFo g™ @R, & s BEY 2dd; @rSsIs
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Consider a simple pendulum where a point m&s8/m:” 1s suspended from a hinge with an
msulating thin wire of length °/’. Let there tﬁyamt charges “+q’ each at the hinge and on
the point mass. The time period of oscillations about equilibrium for this

&Y T Ho Seowd mocﬁé@%, 28 Sen Hod Dodo BSgo°8 M’ Ko IerEhRS
LIRS OE ) HoHBotod. © S 3¢ 8w Dodh (BIgod T 2858 “+q' Do
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erti
A simple pendulum has a time period %&n on the earth’s surface and T, when taken
to a height R above the earth’s 5111% where R 1s the radius of the earth. The value of

ly
s
T ,@
gr GH0800 NG GHIYE o8 odnsTolo T, ol «¢dds seord) $00 wod, T
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If a uniform steel wire of 4 m length and cross-sectional area 3 x 10° m” is extended
by 1 mm, the energy stored in the wire is (Assume Young’s modulus of the
wire =2 x 10" N/m?)

>Ey 4 m, Xmégz'fitbcs ITogdn 3 X 10° m? Ko 28 Dgss &8, 86 1 mm oo
FHEDSY %, Bries® SoRSBchg 9§, (8K ohoh Hegsn K2 x 108 N/mim eetesn)
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A hot air balloon is rising upward with acceleration 2.5 nv/s”. The ratio of air density

outside the balloon to that inside will be (Assume g = 10m/s*, Neglect the mass of balloon
fabric)

2§ 38 Bors, &bmo 2.5 Ms” S @il HYS® BSTob. wohey &F) MO FoBSEr,
Bors SHo @) mO Fossr Ko N (g = 10m/5° vl vHEFHEN, Bors K

BS550°30 & w§osod)

Options:

12 | twd

O@/\
<O
<9

&

Question Number : 96 Question Id : 7512365216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Water is flowing with speed of 10 m/s through a pipe with cross-sectional area of 8 cm”.
The water slowly descends 10 m. The pipe cross-sectional area at lower level increases to

1112

respectively. The value of constant ¢« will be (Assume the density of water = 1000 kg/m?)

16 cm?”. The pressure at the upper level and lower level is .(1 x10° ) Py , and { ax10’ ) N
m

233655{355 STogsn 8 cm’ Ko o8 o tgor 10 m/s SES° A PITFoh. & A6 IZBm
10m &rodood. §ob Hoho I Ao Ry, X)Jcé?gaq}cﬁ STogdn 16 cm” & DEHS08. E
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A metallic bullet of mass 1 g is shot at speed of 100 ms™ into a wooden wall. The metal
has specific heat of 200 J/(kg-°C). Assuming all the internal energy generated by the
impact remains with the bullet, the temperature change of the bullet 1s

B3go78 1 g e el S°Y oo, 3& 100 ms ' & 3G, FES*V8 YT, © &5
DaFRo 200 J/(kg-°C). & wddrdo S0 wéf ooy woddE §§ vos Mok &'
©0L0o&R IR, o ePises” Sy

Options:

5



40° C
200° C

2

Question Number : 98 Question Id : 7512365218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A steel wire of length 1.5 m and 3.0 mm” cross-section area at 30 °C is held straight
(but under no tension) by attaching the ends to two walls. The coefficient of linear expansion
for the wire is 1.0 x 107/ °C and Young’s modulus is 2 x 10" N/m?. If the temperature of
the wire is decreased to —10 °C, the total tension in the wrire will change by

& 1.5m éocﬁgz‘égcs STogo 3. 0 mm?® Ko 2. ﬁé@% TR Bdoi Bod Ao
30 °C 5§ dhodEo Tgoe 8HT wodTE (570 vb S8 Bk). & &K g TgE
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08, SRS Ingo S558S° SR oy O

N

Options: @
240 N Q/v
K2

130N

2

330N

B

I8ON

Question Number : 99 Question Id : 7512365219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A diatomic 1deal gas 1s compressed adiabatically to = of 1ts mitial volume. If the initial
4

temperature of the gas is T, (in Kelvin) and the final temperature is T, the value of “o” is

1
2.8 NS08 B&Y) T0i0IN, TR FO 08 HdIr0S” % Sodos Yo Rsom™ Howddo
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An air bubble of volume “V ° 1e bottom of a lake of depth ‘d’, where the temperature
is T,. The bubble rises to the surface. which is at a temperature of T,. Assuming that the
bubble’s air 1s at the same temperature as that of surrounding water, the volume of the
bubble at the surface is (Let P, 1s the atmospheric pressure and P, is the pressure at T,)

a8 V" 08005700 o md 208, 576 ‘d’ 00, efiid T, fo D83y wbihs® ¢od.
e 208, T, ediid fo ¢i08e s Bdyod. endiE’™ MY, H0dTre B e
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Two identical wires with equal tension i%ﬁmdamemal frequency 900 Hz. The tension
in one of the wires is increased b in order to increase the beats by 9 beats/sec.

The magnitude of L 15 %
T A

QS 8858 T &° &0k, Both SEIZrTBS ifo @rdans Fd:9dgo 900 Hz. dyodsTross
9 DdyodTe/VER TRT DoWE RS, QS a8 BHS'D S5 AT oo Do

WO B £ D830,

Options:
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A smusoidal wave of wavelength A has a speed of 350 m/s. If the phase difference between
two displacements at a certain point at times 1 x 107 s apart is & radians, then the value
of A 1s

S80KBE g0 Ao a8 g Si8ab ddoro $& 350 m/s Edh Gob. QOB Dok 5, 50
1 x 107 &S0 o, Bokd TS oo gy $7° PEo T TSN wond A Jend
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A converging glass lens of 40 cm focal length in air 1s immersed in water of refractive
imndex 1.3. The change in focal length of the lens 1s (Assumen , = 1.5)

glass

mdS® FEigoddo 40 cm Ko el wHFO mar EL¥od, J84SS ko 1.3 Ko A8S?
$00NT . & $LE Tggodbost SO S8, (0, = 1.5 9d o8 sn)
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In an interference experiment, third bright fringe is obt n@m} the screen with a light of
wavelength 700 nm. The wavelength of the light SO%BQH order to obtain fifth bright
fringe at the same point on the screen is (\/

A

w8 Sg888m Ao, dorigdgo 700 nt %&*o@éﬁ, BERS Ko GogdBoos HER
PoBTR. @8 Doy 5§ ©B BIRS © §8S0 ok é@&l FoSTRE IS 5708
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Options: %@
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Consider a horizontal sheet with charge density 5 x 107° C/m”. A particle of mass 8 x 107°
g 1s dropped from a certain height onto this sheet. The number of electrons that should be

removed from this particle so that it stays close to the sheet without falling on it 1s

1
4re,

{Assume g =10m/s” and =9x10° Nm’C™ ]
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A non conducting wire 1s 1n the form of circular arc of radms R as shown in figure. The
two ends of the wire lie on x-axis and y-axis respectively. If the uniform linear charge

density on the wire varies as RICIE p, cos &, the potential V at the center “O” will be

(Assume V = 0 at mfinity)
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& 8K Bot Fden SHIT x-wfo, »-wfoRs Golron. 8RS JE08 THAb IgETRE
Foss p(6)=p,cosd m Ersdod, Jogo ‘O’ 5§ wod DBIHS, V

(w500 ascg V=0 o @0808)

O
DY
>

&«
Po Af%’

T,

Po
8,

.;%

2,

Py
dr e,




Question Number : 107 Question Id : 7512365227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Six equal resistances are connected between the points A, B and C as shown in figure
below. .If B... B . and RBC are resistances between pomts A- B, A-Cand B - C
respectively. then correct option 1s

Bodd NS Hod’ ﬁr?atéé;grr“ s 35S ATToD DodPhen A, Bloddn C o g
£0%36. R, R, $08ctn Ry, 030 $codm Dodoeo A-B,A- C $obasn B-C o
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4
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The current I, m the following circuit 1s
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Two mfinitely long straight wires carry a current ‘7° in the direction as shown in the figure.
For a proton of charge ¢, a distance d away from the wires and moving with a velocity ‘v’

along (— ) direction, the magnetic force on the proton is

Both wd08RS PEJKO 8HI BoS”, HLoeS® Wrud BES® g yTdro 7 trotnob.
8w $H00 drdo d S° o, AgTIFo g e (TS, (—%) 6% Fod V' IKo& 3008,
& (P DS G0 @A, 08 weo,

Led o
0
e ] ,f 1 &(1/

Optio_nsl: ?“
UoigV 5 Q/
2xd - &%

HoiqV ~
| £adY 5
( Td J

IR
ﬂ%frd into the plane of page

Uoig V :
Neoés SRS
\Emf Ul




Zero

v

m:ﬁcl

Question Number : 110 Question Id : 7512365230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A galvanometer having a resistance of 8 € is shunted by a wire of resistance 2 Q. If the
total current 1s 1 A. the part of it passing through the shunt will be

Q&G0 8 Qe mers’ o, 2 QG S0 © 2.8 8HE" Hod Vobadss. ogo JdogEharero
1 A @008, %08 oo 3§) ddogdaaro ario,

Options:
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Consider three coaxial cylinders of infinite length. The mnner cylinder carries current of 3 A
i the upward direction. The middle cylinder carries a current 5 A in the downward direction
and the outer cylinder carries a current of 8 A in the upward direction. The magnitude of
magnetic field 10 cm away from the common central axis of the three cylinders 1s

wdodom FEY S04 o JTE dnrodn J0MBodod. wodd dxrdo gy HIS” 3 A
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Consider the inductor arrangement shown i figure. The equivalent inductance of the
arrangement between the points A and B 1s

HL0S® s (E5te ©HbE HorBosod. DothHer ASbein Be Hgy ¢od vds
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An inductor of inductance 0.2 H is connected in series with a resistance, a capacitance
A 1 4 :
and an AC source of frequency EXIO Hz . For what value of capacitance, the current

will be maximum 1n the circuit

1
0.2 H (b588c0 Ho o8 (265°Q) o8 d8°G0, 28 SFHB) $08050 SIS0 }x104Hz
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The electric field in an electromagnetic wave is given by E =E,é. sin(kv —r)

~

where k= ﬁ’.é},. The magnetic field is then given by (e, &y, e_ are unit vectors along

x. v and = direction and ¢ 1s the speed of light)
0l DogdahF) od SdoNod® Idgd Fdoso s =E,e_ sin(ky—ot) & Sododekod,
Q060 k=k.8,. & ©ohd o8 FE Q) & DEom B DowBEyw
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A parallel beam of light 1s incident % y on a perfectly absorbing surface. If the force
exerted by the light beam on the surfade is 2 x 107’ N in 10 nanoseconds, the energy of

photons hitting the surface 1s ,@

28 V088 5708 Yozdw SIS o] 708 G080 Lo HE00 Vothérod. ¢ ¢L0SL0D
& To8 Pozo ELuld D oo 10 33 EHes® 2 x 107 N wond, &H08eQ) &5 %
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Assertion (A) : As per Bohr’s atomic theory, the electrons revolving around the nucleus
do not radiate energy.

Reason (R) :  The angular momentum of orbiting electron 1s quantized.
BI85 (A) 1 £°6 HGSre vETodo BFG0, Soo thixy HoEWNOT JoFoes 43

D880 WOY). cb
580 (R) : EEgS” DONN) JoF §'s30% >:} segoidEyso.

The correct answer 1s Cj@
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Both (A) and (R) are tme@g(R) 1s the correct explanation of (A).
(A) 508050 (R) en Boésé@géﬁ $8as0 (R) 938 (A) & S0508 5.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
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2.

Only (A) 1s true.
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Only (R) 1s true.
(R) S 830 Se8g0.
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In a decay process. given below. a nucleus X decays mto a nucleus Y, a beta particle and

an antineutrino. X — Y +e+ U . If the atomic mass of X and Y are 175.942694 u and
175.941420 u respectively, then the maximum kinetic energy of beta particle will be

closest to (Assume lu=93 lMeV/ cz]

Bo& 2N a8 Fob HEHS”, e BoEiso XiBoEo Y, (B) Hir S0 5088w 08 SogdS'
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For a transistor amplifier in CE configuration, the change in collector current and base
current are 1.5 mA and 10 pA, respectively. If the collector load resistance R, = 10 kQ

and the mput resistance R, = 2 k€, the power gain of the amplifier is

CE 2375508 @38 985708, D508 DSogiyTidro S’ $3dd), 865700 g o™
Sy $60%m 1.5 mA $0cin 10 pA. 2803 w8 g0 Ry = 10kQ Sobcin 3% Q8°¢0
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In a standard half wave rec&r circuit using pn junction diode, if the voltage in the
secondary of the transformer is 12 V (a.c.), the average voltage (in V) output from the
circuit 1s

PR 08 ERrED TES af (PIrBE vfdbor JE 68 8B Sochod’, LryFd6 D),
Teodochos® 82 12 V (ac.) wond, Sodho Sod eenddo adi dfdo Sge
(Sepes?)

Opti_ons:
12

V2r




i o
b2
1242
J
=,
.Eﬁ
4 6

Question Number : 120 Question Id : 7512365240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heights of the transmitting and receiving anten spectwely are h, and h,.
The radio horizons of transmitting and receiving a‘gjé@ respectively are 16 km and

SJ_ km. Identify the correct option. (Radius of & h = 6400 km)

Er0d H0din (TS wodTe Jdjen i@\"’ h, o800 h, @rod HOw (TIE
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The amount of energy required for the conversion of H to H™ is 13.6 eV. The amount of
energy (in eV) required for the conversion of He™ to He”" is

O

H% H'e Sedoyoso soSeds 4§ 13.6eV. He'so He2+n'®%tﬁéa§o sSods #§ (eV o)
Options: &
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“No two electrons in an atom can have the same set of four quantum numbers™. This
statement is

“o8 DESFEY S 2 Bodkd NTERSCEREY 28 D8 Ko T 57080 DoPgen oBErEE .
& DGe.

Options:



Heisenberg’s uncertainty principle

) *?oﬁea§ ©ASSC Vo500 D00

Particle-wave dualism of de Broglie

G5 Seo-S80l S0 HearSHa0

Schrodingers wave mechanics

@&ond ddon cirol@s TR0

Pauli exclusion principle

O

|70 588 S Q\'

vV

Question Number : 123 Question Id : 7512365243 Question Type: Q "@ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following l‘epresen@)cm‘rect order of 1onic radiu?
Bod TES® wIBrIE mg@%&é&@oé B57Q) BeoDIH 28?
Options: &

Mg™ <F <Na" <0 <N

Mg < Na* <0 <F <N*

Mg < Na* <F~ < 07 <N*

Mg <F~ < Na*< N> <0



Question Number : 124 Question Id : 7512365244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The atomic number of the element Unnilquadium 1s

Unnilquadium Sorr 085y H8Srea0 Hopg Qod?

Options:
102
1
108
2
114 O
3 QN
104 A
“' K
Question Number : 125 Question Id : 7512365245 Question : MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation :

The type of chemical bond p<é€e11t in “CuSO,-5SH,0” are

A

“CuS0,-5H,0” &° &) 37008 wofre §5e

Options:
Covalent: Co-ordinate covalent

50 Aradod; dodial SH@radod

1.

Tonic: Covalent

Wairdd; dBre00%

2.



Tonic: Covalent: Co-ordinate covalent

ASrRE; DB redoD: ﬁéﬁéﬁgﬁ) JBoRBroad

Tonic, Covalent, Co-ordinate covalent ; Hydrogen bond

®AITE, VOB raIch, HS0SoH SHRreIoR; ITE RS Voo

Question Number : 126 Question Id : 7512365246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following molecules, the central atom has expanded octet?

808 wenYS® I B HESrenIoss ©Qs &1@&&?

Q
a) SCL

b) CO, ((//&
c) PF O

d) H:éO A $
e) BCl, Q/

Options: &%

b.c.d

Question Number : 127 Question Id : 7512365247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Density of a gas at 27 °C is 5.46 g dm™ and the corresponding pressure is 4 bar. Find out
the density gas (in g dm™) at STP.

27°C $¢ 2.8 arofn Folise 5.46 g dm™ $o8050 ©odrd HeESsw 4bar. STPSE aa50)
Folé (g dm” o) S EHFSed.

Options:
6
1.
|
2.
3.0
3.

O)
Q‘\r
1.5 q/
@,

Question Number : 128 Question Id : 7512365248 Question. T : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver

¥
K2



For a van der Waals gas

28 To8b T T

a=45atmL’mol>. b=09L mol

[v 3 Pt o o P R _ 00801 R mol‘l]

: © a7t Y 27BR

Its critical constants T, P_ and V_ respectively are approximately

oD H08) porosmeo T, P, $:80%0 V), 5&&@:}}mm

LV

Options:
:36 04,54 @QQ/

v
. 16,02, 2.7 &%Q/

273,1,224

4.

_2.7,02,18

Question Number : 129 Question Id : 7512365249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the approximate amount of Pt (in g) m 1 g of Mn, ,.Pt, ,.O,.

| Atomic weight of Mn, Pt and O are 55, 195.0 and 16 respectively]

l g I\"ﬁ]ugi
[Mn, Pt 58050 O o H88rea eroren S&HIM 55, 195.0 So8asw 16.]

Pty 150, S &d) Ptdddreo (g od®) & Lodrdm §8fSod.

00572

Options:



0.15
5.

0.1
3

0.25
4,

Question Number : 130 Question Id : 7512365250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The label ofa H,SO, bottle shows 1.4 g cm™ 3 asits densr[} @late the molar concentration
(in M) of H,SO,. (Molar mass of H,SO, =98 g mol )

3rerd mES (Mod®) 88 0bod. (H,S0,® go°3 =98 gmol )

15.0 Q/v

28 H,S0,03 28 o &r08 (label) ﬁo@éé;ﬁoi® cm” m BenHdod. H, SO, &3x0%),

Question Number : 131 Question Id : 7512365251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following statements are correct for first law of thermodynamics?

a) Energy can neither be created nor be destroyed. i an isolated system.

b) It is impossible to construct a perpetual motion machine.

¢) The total energy of the system and surroundings 1s constant.

d) Internal energy of a system can not be increased by performing work on the system.

SPA8E TR PED0 IoDErAE Bod B0 I SBFID.

a) 28 AV B wodd égﬁ{geﬁ* F8Q ég%ﬂ;oﬁ@&’)w S08030 T¥d0 FohSSm.
b) ¥ 388 Jodo (perpetual motion) He clooE ) A8 EEBI®R.

c) zﬁgéﬁ@ 200050 DBVoTY Bndo ¥8 "gc‘ﬁ;ﬁ}a

d) =¥ 3558 ©odds ¥8Q, © SgdH R IV owBHw.

Options:

ab.c

a.b,c.d &
; QQ/

Question Number : 132 Question Id : 7512365252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the followmg reaction(s) : K_ = KP?

8od @ $g(0)s* 1K =K ?
(g=adn: s =)

1) g NOBI'[E} — QNO(E} - Brz(g}

11) HEO{EJ £ C(S} — CO{g} 2 Hz[g]

111) .HE(g] + Ii{g] = ZHI{E}
V) N?{g) " 3H2{g] T 2NH3{£) ,\9
Options: (LQ
(1), (i1) A
i @
(111) O
: N

e
(111), (1) Q/

(11), (1v)

4

Question Number : 133 Question Id : 7512365253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Calculate the pH at which Mg(OH), begins to precipitate from a solution of 0.1 M
Mg**? (K, of Mg(OH), = 1.0 x 107", log 5 =0.70)

2§ 0.1 MMg* mdesn S0 O pH $¢ Mg(OH), ©s8do Botkds s8ogfSars?
(Mg(OH), @0, K =1.0 » 107, log 5 =0.70)

Options:



10.0

8.0

Question Number : 134 Question Id : 7512365254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the formula of the 1on formed, on addition of calgon to hard water

£ 2erdd TerSso EDBSYE Doy wosrIQE?

2N IS

Options:

[Na,M P50y ]2_

1.,

[Na,M Psols]z_
z.

[KEM Pﬁolﬂ]z_
=

[K4M Pﬁolﬁ]z_
4,

Question Number : 135 Question Id : 7512365255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Sodium nitrate decomposes upon heating to give sodium nitrite. What 1s/are the other
product/products formed during this process?

Faoho BEH BETH5YE IRrKo Bod FBobo JBEH qilyLo. & HEWS® EYES
WS (Bairedgo/|§oiradrgen J&/AD?

Options:

NO, O,
1

NO, ., O,
2.

3. 2
o V
4_ A

Question Number : 136 Question Id : 7512365256 Queﬂig@g dCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : V

What are X and Y respectiv@?he following reactions?

-X +H,0 2 . dibm‘a}ﬁﬂ ¥

§0d FEgod® X oo Yeo 297
X +H,0 2 3585 —2 Y

Options:

. H,;BO,, B(CO),
_ H,BO,. 2BH,-CO

B,O, . BH,(CO),

233



, B,O;. 2BH,.CO

Question Number : 137 Question Id : 7512365257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : S1Cl, 1s soluble i water, but CCl, 1s not.
Reason (R) :  d orbitals of Si facilitate the reaction with H,O

IRE50 (A) 1 SIiCl, DES* §8orha, 59 CCl, HBe*® Ecoricso.
580 (R): S165°Q d e8yérsy) HO & 8580 95880,

The correct answer 1s q

JOGH HIFEH B0 ‘\/QN

Options:
Both (A) and (R) are correct and (R ’/Sle correct explanation of (A)
(A) 508050 (R) en $50&0&D S (A) Bwg), $650S 580 (R).

1

Both (A) and (R) are cun%fﬁ%ﬁt (R) 1s not the correct explanation of (A)
(A) 08050 (R) e $68R$9, 52 (A) Gwg, 38508 D58 (R) 576,

(A) 1s correct, but (R) 1s not correct
(A) $05056, 0 (R) $05086 5.
3.

Both (A) and (R) are mcorrect
(A) 0d5w (R) &0 H8G08D 5°9.

Question Number : 138 Question Id : 7512365258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List-1 List - 11
A) Particulate matter I) Organic matter
B) Ozone hole ) NaClO,
C) Pathogen III) Smoke
D) Chemical Oxygen Demand IV) Water pollution

V) Chlorine free radical

808 T =8B S®.

eria -1 g - 11
A) §sa?ﬁg@ ﬁm‘*gu I) &%Kié ﬁﬁ?go
B) &4&°R dogo NHCIO3

C) g6 =S850 o) &

%
D) &rchsd sz 0dddo &J IV) 8 srendgo
((/?‘

The correct answer 1s ,@
DO HIFEH B0

V) §88 gy @806

Options:



Question Number : 139 Question Id : 7512365259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The TUPAC name of the following compound 1s

Bob $a0¥$H IUPAC 28 \9
>
CHO

&o

Q/ CH,
Options: &%

4-formyl-3-nitroanisole
4-35°05-3-3 K" AIFS

3-nitro-anisole-4-al

3 -IIFS-4-6565

3-methoxy-2-formyl nitrobenzene

3-058)-2-70)5 JETTodN



4-methoxy-2-nitrobenzaldehyde

4-205r8)-2-3¢5° Bowrdors

Question Number : 140 Question Id : 7512365260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The name of organic compound C,H, that produces carbondioxide, ethanal and methanal
upon treatment with O, followed by reduction with 'Zu/ H,O 1s

CH, o3 &8s $30880, 0, & S$gmaod $6one Zn/H,0 & gaosdmo moosm
SHIRLFE, TS S0l DETSo 336365 T 28 20832

Options:
Buta-1, 3-diene \(/))
, 20gér-1, 3-B& (\/Q

A
Buta-1. 2-diene Q/
O

2oger-1, 2-3&S @
> ?‘

Cyclobutene Q/
ERCEEH ’\(0
But-1-yne

mgéﬁ-l-&:ﬁ

Question Number : 141 Question Id : 7512365261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following systems are aromatic?

808 TES® DD S ErEE SgSHe?

D)

Options: v
A B &(0((/

A

2.

o]
4,
o

A.D

s

5.0

4.

Question Number : 142 Question Id : 7512365262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List-1 List - I1
A) Polar molecular solids I) Positive ions in a sea of delocalized electrons
B) Iomic solids II) Covalent bonding
C) Metallic solids IIT) London forces
D) Network solids IV) Dipole-dipole interaction

V) Coulombic or electrostatic interaction

Bod TR wSHEE50.

e -1 e - 11
A) 05 wew PoddoTen I 'i:asa::, DOFR DIVE0S” Y walrSen
B) @oird8 ?’méém"q;m II) JAr=dch oo

C) &5 WIVTTe0 ©O%S UL

110
D) wrof Dddorges IV) Gqeos-sie 58 WBgen
V)

wmf%ﬂ ?mgcﬁ E)cﬂagé_ @558555 Sdgen

The correct answer 1s C)

$EG0S DEFTHBE0 @

Options: v
A B C @

D \ A 1 A

<:1
2



Question Number : 143 Question Id : 7512365263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vapour pressures of pure heptane and pure octane are 92 and 31 torr, respectively at
40° C. The total vapour pressure (in torr) of a solution containing 1.00 mole of heptane
and 4.00 moles of octane 1s

40° C 58 $Hg s Sobofn o vildo orl) odares S6dm 92 Sobasw» 31 torr.

1.00 S s Sodcsn 4.00 3rde ugsen fo ol @Tdod) Swngo rdywdso
(torr ©&5°)

Options:

18.4
1.

24.8 ,S)
i Q

Question Number : 144 Question Id : 7512365 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option O& izn : Vertical



A plot of Vapour Pressure (V.P.) of two component system versus composition 1s given
below. The correct pair of x, and x, 1s:

Ggaodo¥ g8 Goog), erydso (V.P) $o0ci0 dodobode (7 Bod adtwdod. x; So005»

x, © ¥9& ag. (VP of solution = rded erdywddo, mole fraction = IS erifo)

VP. of
Solution

VP. —

ions: N T &
p O@

v, =n—C_H ;xzu—CH

B 6" 14 2 7 @
1.

x.=CH

; 9 5 . —CH
.TIZCHC13 : IEZCH3COCH3

x,=C,H.OH : x,=CH,COCH,

Question Number : 145 Question Id : 7512365265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The correct unit of the slope given in the following plot for the strong electrolyte 1s:

1
[ a = (concentration )2 ,b = molar conductivity of solution }

2O Jgd JFHD Bod MRSV Trend VIS Horearen:

: |
[a =(mr¢gs)2, b= @T30) Ireod ;.mamgasJ

K(Cl

S em? miol ?‘
1
[11101 L‘l)E Q/
;. &%
.S e L

(mnl)%

QD

S em” mol™
1

(mc-l T )5




S em” mol™

( mol L. ]2

Question Number : 146 Question Id : 7512365266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Ina reaction, X +Y — Product, the rate of the reaction changes from 1 x 10° mol L™ s to
2 x 10~ mol L s7! when the concentration of Y is doubled. The rate of the reaction
reaches 8 x 107 mol L ! s7! when the concentration of both X and Y are doubled. The rate
law for the reaction can be written as,

X+Y - Bosrasgo, $6gk Y mEss 3800 BsHk Beo 1 x 107 mol L™ s™ So0d
2% 107 mol L™ s %0 S0y Bobss. X Soain Yo mé@ﬁ: 330 BdJYE $EgBLw
8 x 107 mol L™ 57 & Bchdod. w85 Béw Doy Fob Do TeBuy

Options: &

. Rate =k [X] [YT’ Q((/
. Rate =k [X]? [Y] ((/?“

Rate =k [X]? [Y]?

Rate =k [X]’ Y]’

4.

Question Number : 147 Question Id : 7512365267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following correctly represent(s) Fruendlich adsorption isotherm?

Bob TES® AB/AD |Frow0ds whHTHED DAY To(w)d BuoHdod/BeoYecn?

T|
TE
a) x/m T,
p
P
¢} logs
log p
Options:
a. d
1.
d
2,
d. C
3.
b.c
4,

Question Number : 148 Question Id : 7512365268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

b)

A
1
1,
x/m i
T, T, AT,
p
0\,
08
log p



Which of the following gases is responsible for making blistered copper?

Bod TES’ T D5 SArdd BLr8 GRS TSNP 267

Options:

CcO

CO

2

SO

o, N
4, &
Question Number : 149 Question Id : 7512365269 Questio%éyCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Verti

What is the formula of the compound

the presence of conc. H,SO,? Q/

ormed on adding Fe” solution to nitrates in

et H,80, 35080e5” Fe™* &ﬁéﬁwfswaé EDudYd ojéﬁ‘)(ﬁ.} D0 FIS50/drS T
Q8?

Options:

Fe (SO,),

1.

[Fe (H,0)]”"

FeCl,



[Fe (H,0); NO)J**

Question Number : 150 Question Id : 7512365270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following compounds undergo disproportionation reaction?
Bod ST 0SS D WIS By MmIoBEE ow?

a) H,PO,
b) H,PO,
¢) HP,0,
d) H,PO,

Options:

a.b. ¢

Question Number : 151 Question Id : 7512365271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.
List -1 List - 11

A) Manganate ion I) Bond angle 126°
B) Permanganate ion II) Covalent green
C) Dichromate IIT) Paramagnetic
D) Mn,O, IV) Diamagnetic
V) Tetrahedral

808 FTE 2BBLS0.

arie -1 riae- 11
A)  370K3E wosrS I) &ocﬁﬁsaau 126°
B) 070636 ©osrs ,@ SaB0l5 e
C) BEDES ({,} ) 5o wohidn,od
D) Mn,O, OV V) gosir wohdm, o8

N v sewes

The correct answer 1s ,@
SISISR VIS IRS NSO

Options:

=
=
p==s



Question Number : 152 Question Id ;: 7512365272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The formula for the compound Hexa ammine Chromium (III) - tetrachlorocuprate (II) is

Q0 ¥S50 ey wos F'cio (1) - B §76° (8 (1) Swg), Frdoer

Options:

[Cr(NH,) ],[CuCl,],

Cr(NH,),CuCl,

2

[Cr(NH,),],[CuCl,],

Cr(NH,),,CuCl,,

4.

Question Number : 153 Question Id : 7512365213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

8ol & a8Hdwhdn.

A)

B)

C)

D)

List-1 List -IT
=de -1 rder-11

CN

|
Melamine ) {CH,-CH=CH-CH,-CH,- CH
So0Fo -+ HN N \]/NH—CHE—_—

Q!

Glyptal 1) \T
AreS NH

[ IR+ | dn

{oc,c
Bakelite II) +OCH, @ ocC CO¥.
v o

2888
O—H O-H
CH

Buna-N n&) 2 e, )‘n

22085-N
Q/v | CH,
&% V) +CH, —éH}H

The correct answer 1s
HOGOD HRRGH B0

Options:

1.

A B B D
v I I V

= e
v
&
-



Question Number : 154 Question Id : 7512365274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct for amino acids?

A)
B)
)
D)

Amino acids form Zwitter ions.

All naturally occuring amino acids have D-c@ﬁgm‘aﬁon.

Complete hydrolysis of proteins leads to '\ﬁﬁnnatiﬂn of amino acids.
All a-amino acids are optically active. (1/

AT sired Sowodod §od 35&&(&&6@5@ QD?

DS eshren B0ed @0@5& D ByBodro.

A)
B) @88 dgom oo %)3)35‘ esdren D-Oargdo §9a eotron.
C) @8R Fh 20dZh MI0NST NS wired G deon.
D) @) 0-d0S edren §dn Erdsren.
Options:

A, C
1

B.D

2.

A,

B.C



A, B D

Question Number : 155 Question Id : 7512365275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (a) : Antiseptics kill or prevent the growth of microorganisms and are harmful
to human tissues.

Statement (b) : Tincture of 1odine 1s an antiseptic.

AS8ea (a) : airotnyfen SrfiEHoh oPperon B T8 Db A6 GI0w0
N0 QD AP SRrUrOB (P GET0.
D58 (b) : VBrES $08)0 wHSh u¥ BrotdBRS.

The correct answer 1s q
HOGH BEFTHI0 QN
Options: &(1/
Both (a) and (b) are correct. Q/
(a) S08050 (b) en HOFSD. @O

1

v
Both (a) and (b) are not %g{t

. (a) $080%n (b) en KBIVKD 5.

i
Lo —

(a) 1s correct but (b) 1s not correct.
(a) $8G0R6 5 (b) SoTSH sk,
3
(a) 1s not correct but (b) 1s correct.

(a) S0GHRE 7% 5°Q (b) HOFIE.

Question Number : 156 Question Id : 7512365276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Find the correct variation for the following compounds with reference to their bond length
and bond energy respectively.

So& 2»’::33@%.}'&“&: 208 chfgo 5000500 2208 88 H020H0N JBGNS Bordyde ST EDTdok.

) CH,-F
) CH,-Cl
1) CH,-Br

IV) CH,-I

Options:
I<II<II<IV
IZII>II>1V

I<II<II<IV

I>IN>1>1V

I>O0>M>1IV

IZNN>1>1V

Q'@
VvV
A
I<:11{1H<%

O

[ 652 II&/@E’

Question Number : 157 Question Id : 751236@7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct order of basicity of oxygen atoms present in the compounds W, X and Y is,

R0 Tren W, X 5o0ckn Y o &) s§iaus Sddrende S0@0d 5réds ESokn

Options:

Y>X>W

s

: -

(X) (Y)



W=2X>Y

S

X>W>Y
=

X>Y>W
4.

Question Number : 158 Question Id : 7512365278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one among the below gives an 1odoform test?

Bod TES® wRNEFE HEEH RSN D&@\c,b

A
@C’@
v



O/\CHO

Question Number : 159 Question Id : 7512365279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following reaction can not produce benzoic acid?

Bob H8gee” BoE ons esoSn JHTEIE I6?

Options:

CHO 1) Conc. Na®H, A
QR
2) ] :

3\ «“

b

@/ CH, —CH, - CH;- 1) KMnO,-KOH/A
2) H.OF

O
I

. 4

Question Number : 160 Question Id : 7512365280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the product ‘P’ m the following sequence of reactions?

Bod BT GESINS® wS¥)Sn P’ 26?
NO,

i) Fe+HCI
@ ii) Br,/H,O
> P
iii) NaNO,. HCl, 273K

iv) H,PO,

Options:

e &

Br

Br

Br = Br &%
Br

Br OH
Br

1
z.
3



Br

Br

Br



